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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.
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Candidates must write(@ir Roll-Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and
complete question-paper, no claim in this regard, will be entertained after
examination.
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General Instructions :
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All questions are compulsory.
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(i) 97 #E 1 7 40 TF FegITe (JgREAT RFT @7 3 gt/ 7e1-TAq) Fo7 81 T9%
JoT 1 5% T &1 @8 FTY ST FAv-GreawT 7 [

Questions from 1 to 40 are objective (Multiple choice/fill in the blanks/true-
false) type questions. Each question is of 1 mark. Write correct answer in
your answer-book.

i gty gedt @ ae T g -
Choose the correct alternatives of the following multiple choice type questions :
1. ESe & Ao Hearr g g feem & 2 ? 1
(A) UsH f&y (B) UrexEs
(C) sfo sk (D) & ¥ g T
Who has given the material welfare definition of economics ?
(A) Adam Smith (B) Peterson
(C) Dr. Marshall (D) None of these
2. IO e B TG § B 8, 59 a8 W B © 1
(A) SAfERTH I Q@ (B) ek Bl
(C) e wgfe S\\ ) T 8 B T
Consumer attams\&%ﬂlbrmm when he gets :
max1mu@§come (B) maximum loss
(C) maximum satisfaction (D) none of these
3. W 9% & AN O © 1
(A)  g-TcHD (B) = MH%
(C) OX-3Y & THMFK (D) OY-3 & FHMF

The slope of demand curve is :
(A) positive (B) negative
(C) parallel to OX-axis (D) parallel to OY-axis
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4. S9 9 9% OX-3& H GHMIX 8RN, af |67 & o anl 1
(A) B (B) 3%© q A
) I3 (D) S

When the demand curve is parallel to OX-axis, then price elasticity of demand
is :

(A) Unity (B) More than unity
(C) Zero (D) Infinity

5. frefafeg & § $H-91 A9 &l © 7 1
(A) TP=APxL (B) AP:%
(C) (A) @R (B) i (D) T ¥ Pi5 T
Which of the following is correct statement ?
(A) TP=APxL (B) APz%
(C) Both (A) and (B) (D) None of these

6. 9 IUEA F &R LA 8, A FW IRGHd arre (TVC) 2Rl 1
(A) FI @FE (TC) (B) A
(C) % dft @ (TFC) Q (D) T § Hiz Tl
When the level of outpgﬁ% zero, then total variable cost (TVC) is equal to :
(A) Total Cost (TCL&\% (B) Zero
(C) Total Fixed @%t (TEC) (D) None of these

7. W SR st §, w4 e 2 1
(A) HHA A ara (B) WHHd qF YA amal
(C) (A) R (B).aHi (D) T & Bi5 T
Under perfect competition, firm is :
(A) Price taker (B) Price maker
(C) Both (A) and (B) (D) None of these

8. UHHR & F=FIq ofed T I 1
(A) = B WG FH BN © (B) OY-378 & GHMNIR Bl 8
(C) OX-3Te % I &l 8 (D) ™ § B -l
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Under monopoly average revenue curve is :

(A) downward sloping (B) parallel to OY-axis
(C) parallel to OX-axis (D) None of these
9. ffafad & § HiF-a1 ddfte I & ?
(A) HET @ = (B) T a& & Hd
(C) ST YT (D) T o
Which of the following is a macro variable ?
(A) Elasticity of demand (B) Price of a commodity
(C) Consumer equilibrium (D) National income

10. FEd TN & HaEEy T A H

(A) STf® ST T S & (B) ST STAN & STl &
(C) @ AN & S & (D) ST
As a result of double counting national income'is :
(A) over estimated (B) /under estimated
(C) correctly estimated (D). All of the above
11. ﬁﬂﬁ%ﬁﬁ@ﬁ?ﬁ?ﬁaﬁm@ﬂﬂmﬁﬁﬂm 7&7 far ST ?
(A) feir orf<a® STt (B) TH AT ITHAT 27
(C) FET W) e & ) T q PiE
Which of the fo @%ﬁg is.not included in flnal consumption expenditure ?
(A) Private §consumptlon expenditure

(B) Government final.consumption expenditure
(C) Expenditure on-construction
(D) None of these

12. frefafad 3 @ ga1 & i & -9 § 7

A) fafma & mem (B) T &l TR

(C) (A) X (B) qFt (D) IeF & BRI
What are the primary function of money in the following ?

(A) Medium of exchange (B) Unit of value

(C) Both (A) and (B) (D) Transfer of value
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13. 9RdE R §% (RBI) & €&oT e ad o g3 ? 1
(A) 1905 # (B) 1920 #
(C) 1935 # (D) 1951 H
In which year the Reserve Bank of India (RBI) was established ?
(A) 1905 (B) 1920
(C) 1935 (D) 1951
14. YA AV H SFTEe bl e F 1
(A) M Fa e | B o (B) M &Ja °I¢ § B 8
(C) (A) R (B) (D) SR § § F Fél
Disequilibrium in balance payments means :
(A) Surplus balance payments (B) Deficit balance of payments
(C) Both (A) and (B) (D) none of these
g 9=l @ R & 97 -
Fill in the blanks with appropriate words :
15. S¥ HHd & 961 W I 96 ST &, Al T e, Fed gl (I H R, gt 9 gfs) 1
Increase in quantity s%p@%ed due to rise in price is called ............. .
Q(§) (extension of supply, increase of supply)
N\ .
15.@%%&@@%@@ ............... 2, @ HiT = o dEER A B 1
N (e, e
Due to decrease in price total expenditure is .............. , the price elasticity of
demand is more than unitary. (increases, decreases)
17. T T8l 9% 99 45 bl AR ..o, &I B (IR, eY) 1
An indifference curve is ............... to the origin. (concave, convex)
18. UREdHSIe STgu & FEH T JF] & B (SfeqepTeT, ) 1

Law of variable proportions is applicable in the period of ................ .

(short-run, long-run)
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19. 9, S, 9974 ofE X 76 T8 & &l ..o Fed 2l 1
(e P, IRec=sia @)

The expenditure on land, insurance, management etc. is called ............... .

(fixed cost, variable cost)

20. 999 TEERl B AW ..o, M (1929, 1936) 1
Year of World's Great Depression was ............... . (1929, 1936)
21. BEGN ..o T 2 (EEdiaRor, ardias) 1
Scholarship is ................ income. (Transfer, real)
22. FEH L. et 81 2 (BT R, Xl AR S ) 1
................ included in money. (only coins, currency and bank deposits)

23, TE 6 = ............ {W‘T ST TS \w} 1

s ST "I ST

demand deposit cash deposit
cash deposit " demand deposit

24. 3 3 VTR s & &@\ ............... T G STaRT Bl 1
&5 (oTget ISR e, ToF TSR Fga)

According to Key (b:cheory of employment ................ is a normal situation.
@ (less than full employment, full employment)

25. FA TE - HA WA, SR & ARG = oo, | (o e, TS ) 1

Total expenditure = Total receipts, other than borrowings = ................ .

(Revenue deficit, Fiscal deficit)

26. P I B A G A oovvennnenn gl 1
(o, @ ol S=a @, = e SR G @)

Two basic accounts of balance payments are ................ .

(Current account and Saving account, Current account and Capital account)
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=it we @8t & ar T, Fsy -

State whether the following statements are true or false :

27. I T AN T AR TR B T TH-GER B M W BAT S B 1

The terms demand and wants are used interchangeably in economics.

28. 39 F AN JAER B B 1
Demand for milk is inelastic.
29. HRE F=d q9 U Bl 8, T TYO IGN H IR Bl B 1

Internal economies arise when the entire industry expands.

30. 39d T % 'U' ST &I &l 8l 1

Average cost curve is 'U' shaped.

31. T ufcefrer & awqe ey ki & 1

Goods are homogeneous igerfect competition.

32. wwmmﬁﬁ@mﬁmaﬁwm@aﬁﬁwﬁaﬂ' :

There is no free @ry and exit of the firm in the industry under monopolistic
competition. @

33. T W o9 & TR &l 1

Interest on capital is a flow variable.

34. JEEET UgH, TSHE ™ § M 2 2 1
Old age pension is included in national income.
35. Hul ffe & wrem & w9 § &9 & ol 1

Money act as a medium of exchange.
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36. ¥ g9 FgRd (MPS) SR M SUHRT HgRT (MPC) %I dNT 8RS T8Il B 1

The sum of marginal propensity to save (MPS) and marginal propensity to

consume (MPC) is always one.

37. a1 H TH U FY ol 2 1

Service tax is not an indirect tax.

38. AW U, HUR Y { REgd gROT & 1
Balance of payment is a broader concept than balance of trade.

39. 9Rd #, R ¥ offe sfear e fes o0 fe &Td 2 1
In India, Reserve Bank of India issues the coins.

40. TEHA W IUE F TG AH FAT BEGRT A Bl Sl 1

Gross domestic product includes capital gain and scholarships.
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